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B.Sc. (CBCS) DEGREE EXAMINATION,
NOVEMEER 2016.

Fifth Semester
Mathematics — Main
REAL ANALYSIS
(For those who joined in July 2012 — 2015)
Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)
Answer ALL questions.

Choose the correct answer :
1. &lfsappr craamsaflem semrid
(=) caral_gssag () aanafil_gsssgin

(@) aupbuyg ()  agbdame

The set of all irrotational number is

(a) Countable (b) Uncountable

(c) Bounded (d) None of these
2. apyeypr e Geuefll (-o,a] =

(<21) {x:x>a} (<) [x:xza}

(@) {x:x«:’.a} (rF) {x:xsa}

Infinite interval (-,a] =

@ {x:x>a} b f{x:x2a}

(© f{rx:x<a} @) {x:x<a}
aupssonar  wirli Gewefl R 6, sgeupner spm
(=) IntN=¢g (<) Intz=¢

(@) Intg=¢ (7) IntR=¢

In R with usual metric the incorrect statement is
() IntN=¢ () Intz=¢

() Intg=4¢ d IntR=¢

Z - e ppHsed

(=) Z (=) ¢

@ R () gpdvme

The closure of Z is A

(@ 2 (b) ¢

© R (d) None

fi(M,,d)—>(M,d;,) erans a ergud yarafluder f
Qgm_sflwmeng < lJ'_I.nf(x) B

(=) f(x) : (=) 0

@ 1 (" [

Let f:(M,,d))— (M,,d,) [ is continuous at a <
lim f(x) =

x—=a

(a) f(x) b 0
© 1 @ fla)
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6.

f(x) = 2x, g(x) = cos x ereflled g.f(x) =———

(=) coslx (<25) 2cosx

(@) 2cos2x () asdleeane
f(x) = 2x, g(x) = cosx then g.f(x) =

(8) cos2x (b) 2cosx

() 2cos2x (d) None of these

aupsaionar Qi Madd M = [1,2]U[3,4] erafleo M Qe
[1,2] eremigy;

(@) Sopes (=) epuug

(@) (=) wpgbd () (7) ¢

If M=[1,2]U[3,4] with usual metric, then in
M[1,2] is

(a) Open () Closed

(¢ (a)and (b) @ ¢

em oabaal dearssatulL  GCeefl el

(=) YenermiiGeom

(«) Genemrasiul L Geuat

(@) SiL_sswmer

(w)  gguliens

A subspace of a connected space is

(@) Disconnected (b) Connected

(¢) Compact (d) None
aupsanrar Gl fsder &b [0, o] eranug m
(<21) euplbLml &emid (<)) BILGEWDHDHEHETLD
@) o sand () Hops semd
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10.

11.

[8, ] with usual metric is
(a) A bounded set (b) Not a compact set

(¢) A closed set (d) An open set
(3,4) ereiugl G SiLGswner S B, eblareile
Gl

(1) eLpigiLl HEmTLD Biehe)
(<2p) euUpDLm Sewrid Sjsled
(@) eupbyd LaraflseT SiDns
()  ggdeame
(3,4) is not compact since it is
(a) Not a closed set
(b) Not a bounded set
(¢) Without limit points
(d) None
PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

Answer should not exceed 250 words.
(1) erever GananuerTsamaniid C&TeRT. SeToneus)
TaTanT S5 5SS eTan Flpie,s.
Prove that Q is countable.
Or

(=) R? ed(x,y)= I-"‘:l _.?1|+|x2 —J‘gl
x=(x%;), y= (o ¥2)
eren euepLpIGEIUL Deaersl. B @ d erenug @@
Qo M& erem Hlem .
In R® we define d(x,y)=|x, —3|+|x -
where x =(x, x,), ¥=(y, ¥,) prove thatdis a
metric on R*

Page 4 Code No. : 20827
[P.T.0]

"
Nesamony Memorial Christian College, Marthandam



Nesamony Memorial Christian College, Marthandam @}
A4




Nesamony Memorial Christian College, Marthandam @}
A4




